Tapering = 0.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Chi-squared = 0.13 Chi-squared = 2.79 Chi-squared = 218.50 Chi-squared = 1384.07 Chi-squared = 1972.21
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Tapering = 0.25 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Chi-squared = 0.15 Chi-squared = 13.00 Chi-squared = 450.82 Chi-squared = 2753.37 Chi-squared = 3851.57
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Tapering = 0.5 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Chi-squared = 0.55 Chi-squared = 6.61 Chi-squared = 262.04 Chi-squared = 2036.56 Chi-squared = 2899.98
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Tapering = 1.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Chi-squared = 0.30 Chi-squared = 1.64 Chi-squared = 138.84 Chi-squared = 1354.27 Chi-squared = 2039.09
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Tapering = 2.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0

Chi-squared = 0.24 Chi-squared = 0.47 Chi-squared = 33.15 Chi-squared = 587.19 Chi-squared = 1094.75
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Tapering = 4.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Chi-squared = 0.54 Chi-squared = 0.64 Chi-squared = 2.34 Chi-squared = 286.72 Chi-squared = 606.88
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Tapering = 8.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Lo Chi-squared = 0.03 Lo Chi-squared = 0.03 Lo Chi-squared = 0.62 Chi-squared = 119.02 Chi-squared = 256.65
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Tapering = 16.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Lo Chi-squared = 0.03 Chi-squared = 0.04 Chi-squared = 0.26 Chi-squared = 20.71 Chi-squared = 57.36
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Tapering = 32.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Chi-squared = 0.01 Chi-squared = 0.01 Chi-squared = 0.01 Chi-squared = 2.26 Chi-squared = 7.61
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Tapering = 64.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Chi-squared = 0.06 Chi-squared = 0.06 Chi-squared = 0.10 Chi-squared = 1.00 Chi-squared = 1.58
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Tapering = 128.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Chi-squarﬂed = 0.27 Lo Chi-squarﬂed = 0.27 Chi-squarﬂed = 0.28 Lo Chi-squarWed = 0.22 Chi—squarﬂed = 0.16
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Tapering = 256.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Lo Chi-squarﬂed = 0.74 Chi-squar;ad = 0.74 Chi—squarﬂed = 0.76 Chi-squar:ad = 0.46 Chi—squar;ad = 0.23
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Tapering = 512.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0

Chi-squared = 1.40 Chi-squared = 1.40 Chi-squared = 1.40 Chi-squared = 1.50 Chi-squared = 1.56
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Tapering = 1024.0 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0
Chi-squared = 2.12 Chi-squared = 2.12 Chi-squared = 2.12 Chi-squared = 2.11 Chi-squared = 2.12
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Tapering = 1280.0000000000002 arcsec

Robust = -2.0 Robust = -1.0 Robust = 0.0 Robust = 1.0 Robust = 2.0

Chi-squared = 1.47 Chi-squared = 1.47 Chi-squared = 1.47 Chi-squared = 1.50 Chi-squared = 1.50
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